ASSEMBLY INSTRUCTION

MODEL CODE: 248-000011 PAGE 1-2

HARDWARE ITEM QTY

A2 D{Xm> Screw m3.5 x 14mm 44

A4 | Screw m3.5 x 20mm 4

A6 D}jﬁm> Screw m4 x 25mm 4

Dﬁﬁmﬁi\j Crosshead Screw
A7 m6.3 x 40mm 24

Crosshead Screw
A18 || I | g 2 x somm 4

C5 Square Lock Set

E9 Door Hinge 7/8" 4

H3 X\ | Handle 96mm (Silver) | 2

L2 {\& Plastic Leg L Shape 4

N1 Allen Key 1
[ —

50

N3 Nail (+-3)

R1 L Bracket 2
LS5

S1 ‘[:!‘E. Door Catches 1

S2 @ Door Stopper 1

MATERIAL USE LAMINATED PARTICLE BOARD, TO CLEAN
USE SOFT, DRY CLOTH. DO NOT USE DETERGENT OR
CHEMICAL AVOID CONTACT WITH WATER AND DIRECT
SUNLIGHT. TO BE ASSEMBLED ON A SOFT, DRY, CLEAN
SMOOTH SURFACE.

| COMPLETE |

USE OF POWER TOOLS TO ASSEMBLE

THIS PRODUCT WILL INVALIDATE ANY
CLAIM AND MAY DAMAGE THIS

PRODUCT MAKING IT UNSAFE.

PRE - ASSEMBLY

STEP 1 | Assemble the Door Catches (S1) at panel no. 3 by using Screw m3.5 x
14mm (A2). Assemble the Door Hinges 7/8" (E9) by using Screw m3.5 x
14mm (A2) and assemble the Handle (H3) by using Screw m4 x 25mm (A6)
at panel no. 3 & 4. Then, assemble the Square Lock Set (C5) at panel no. 4
by using Screw m3.5 x 20mm (A4).




ASSEMBLY INSTRUCTION MODEL CODE: 248-000011 PAGE 2 -2

STEP 3 | Assemble panel no. 2, 5, 6, 7 & 8 together by using | gTEP 4 | Assemble panel no. 1 to the unit by using Crosshead | QTEP 5 | Assemble panel no. 9 to the unit by using Crosshead

Crosshead Screw m6.3 x 40mm (A17). Use Allen Key Screw m6.3 x 40mm (A17). Use Allen Key (N1) to Screw m6.3 x 50mm (A18). Use Allen Key (N1) to
(N1) to tighten the Crosshead Screw m6.3 x 40mm tighten the Crosshead Screw m6.3 x 40mm (A17). tighten the Crosshead Screw m6.3 x 50mm (A18).
(A17).

STEP 6 Assemble the panel no. 10 to the unit by using Nail (N3). Then, assemble the L Bracket
(R1) at between panel no. 5 & 8 by using Screw m3.5 x 14mm (A2). Assemble the Plastic

Leg L Shape (L2) between panel no. 8 & side panels by using Screw m3.5 x 14mm (A2).

Attach the door panels no. 3 & 4 to the unit. Adjust the Door Hinges 7/8" (E9) to screw
parallel between the door gaps.

Stand
up




	Sheets and Views
	Model

	Sheets and Views
	Model


